RISFE AHMER

BEI—-F BBRHES L NE=S 5 8 # B 15 E= ]
406473 [ir] B 4 AT S SEHKX S EE 0 2P« HaRPTE 1
Tz
IREHKXIZmE 0 TELEEE RATEESD. ) 9,154
EREASKESHBAOD RE.11RD 16,866 A P BN 5,800 BEAS 0
R = BEKRINEE -y
(SBEKLODZED) 5,120,000 JE— R 1
RIEHKAD v -
B B N FEED EEI%NCD‘D‘%E@) 0 SIERAN 5
= o B T > B XIE®R (288 o
— 2 18 (5BBKCNDBED) 0 BR i 2
08 633,982 BLHRAD 0 ETiE 2
T ;_:: = SHEBKICHNDED) I . A
Bis —, - MEERHKBES KA . NEL - TREE — 5
= et (SBEKCHDZED =
eV 3 BILHRAD 0 B 3
— . n SEEKICHDDED) I\
B RIS HEK R e N —
£ zofl 0 (5BBKREHDBED) 0 SRS 0
BEF AT T 42,611 RIEHIKAD 0 R 1
i IS ESHEK RS "5’“’“””5% QELE
2o ; S agm o szn 3
e P 797 I35+ « TS5V HMUEAD 0 EE 0
=t p—— — - P zomn | SR —
SHEREEFE P F 797 SHLER{EENIEAD 1,891 ETAT VIR SIEHEN 0
REiER (FhErH) 8,304 [N AVAi BT 2 — ERiE 4
RB EN=
MWEEE (FRER) 49,367 — BB IEHAS IS | &R 0.0 SIERSHN 0
MIBADO 5,842 | BRI ITHEER EIEY 0 ERiE: 0
BREER e Lo
UER - = EES S [E FRRIRS -
B%ﬁ#ﬂ Eﬁivﬁm”&%% 8,036 :\B%ij’ﬁﬂmﬁﬁﬁnx @Fﬁ;& 0.0 SEREM 0
WIE B MEAD 16,618 s | DERIINER @ 0 . B 0
oA = FFEKIS
FRIHRINES 1,904 Toh | S I | m 0.0 SRS 0
s T ML S s SE Y b
P THETATE 0 R B T fEE% ELE: 0 — ERIE 2
—gEBEsE 0 BAN=A| _apzxinas e | moms 0.0 SEHES 0
EKBFE |#6KAD -
BRIk HEINE 100 BEEA BT T fE5% EiE 0 RgzV5— Bl 1
PSR | _msmmss 0 oA e e BT 0.0 BEOR B 0
IREHKAD 5,693 ISERS | A TS SR 0 BROX SRS 0
STEHKREEE 1,900,000 BANES | BT TIiEES BRI 0 [ERE: 70
ESNiE
IRFE KR IS ERE 1,593,800 YR | BT e 0 IEETE 12,378
stERLEY 2 e | EINIZNER ey 0 TH (D 1,333,217
THEIE
TKEE | BHEHTKE ITEASRIMBIHS 2 2y GEmR) 160,299
NEHUE
SHEIMER S 1,900,000 ESCle: ) 1,366,246
B E
REIMEREE 1,593,800 2y GEER) 0
BENERERAD 5,693 TiHRERES Tty (& 0
=2
REAHEFREHAD 4,628 ZOMDESE Ty (tefE 0




